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Part 1: Reading Comprehension (60 %)

Read the article below and answer the questions that follow.

FEVRHEREDOTZORMBENIA L TH Y £7

Source:

Mainichi Japan (2022, March 2). Space junk on 5,800-mph collision course with moon. 7he
Mainichi. Retrieved from https://mainichi.jp/english/articles/20220302/p2g/00m/0sc/049000¢






According to the article, how will the expected impact with the moon be confirmed?

D (10 )

(A)through a space exploration

(B) through satellite images

(C) through space station communication
(D) through a telescope

(E) through establishing a moon base

(2) | According to the article, what was the space junk originally mistaken for? (10 %)

(A)a SpaceX Falcon rocket upper stage
(B) a distant revolving planet

(C) a large volume of ancient moon dust
(D)a new type of hypersonic spacecraft
(E) a huge international space station

(3) | According to the article, why do impact craters on the moon last forever? (10 )

(A)because meteors cannot reach the surface of the moon

(B) because there is no weather

(C) because the atmosphere is very thick

(D)because there is a defense mechanism against asteroids

(E) because moon dust is sent flying across hundreds of kilometers

“ According to the article, who questioned the initial assessment of Bill Gray on the
) origin of the space junk? (10 &)
(A)Elon Musk

(B) an engineer at NASA's Jet Propulsion Laboratory

(C) Jonathan McDowell of the Harvard and Smithsonian Center for Astrophysics
(D) Chinese ministry officials

(E) the U.S. Space Command



5) According to the article, what was used to identify the Chinese Long March rocket
segment? (10 )

(A)NASA’s Lunar Reconnaissance Orbiter

(B) India’s moon-orbiting Chandrayaan-2

(C) the University of Arizona’s telescope observations
(D)NASA’s Jet Propulsion Laboratory

(E) Elon Musk’s SpaceX

According to the article, what persuaded Bill Gray that the space junk was a Chinese

6
©) rocket segment? (10 A0

(A)light reflecting off the rocket’s paint

(B) the prediction that the rocket would hit the near side of the moon
(C) data from orbital tracking and a ham radio experiment

(D)an endorsement from JPL's Center for Near Earth Object Studies
(E) NASA'’s Lunar Reconnaissance Orbiter



Part 2: Writing (40 A5)

Space tourism is now possible. In your opinion, what are the benefits and drawbacks of
traveling into space as a tourist? Write about 120 words in English.
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int hash(char *s) {
int sum = O;
while (*s != ’\0’) {
sum += (int)x*s;
S++;
}
return sum % 10;
}
*x1 # 2
ant ant
cat cat
ice ice
hat hat
egg
jar
* 3
X7 | a—F XF | a—R X5 | a-—F X | a-—FK X | a—k XF | a—F
a 97 f 102 k 107 P 112 u 117 z 122
b 98 g 103 1 108 q 113 v 118
c 99 h 104 m 109 r 114 W 119
d 100 i 105 n 110 s 115 X 120
e 101 j 106 o) 111 t 116 y 121
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